
3

12
13

8
16

20

21

5

17

10
4

2

7

22

11
15

6

14

18
19

9

1

ITEM NO. Article number DESCRIPTION QTY.

1 013065 CW05-SPINDEL-SPIE-DUBBEL 1

2 000028 CW05-VEERHOUDER 2

3 000026 CW05-BUS 2

4 013129 CW05-SPINDEL-RING 1

5 012507 CW05-SPINDEL-SPINDEL 1

6 013127 CW05-SPINDEL-VOORPLAAT 1

7 012511 CW05-SPINDEL-SOKBUS 1

8 012539 CW05-SPINDEL-ACHTERPLAAT 1

9 013128 CW05-SPINDEL-SPINDELBUS 1

10 012508 CW05-SPINDEL-BORGBOUT 1

11 012530 CW05-SPINDEL-HOES 1

12 013131 Schotelveer 20x8.2x1.0 6

13 000022 Cil. inbusbout M8x25 8.8 3

14 005310 M8 sluitring 8

15 035996 Cil. inbusbout M8x20 8.8 3

16 013130 PL-V-INB-BOUT-M8x40 2

17 035995 VETNIPPEL-M6 2

18 013132 M8 borgmoer 2

19 010255 M10x40 8.8 2

20 000030 M10 sluitring 2

21 000029 M10x50 8.8 2

22 013133 Seegerring as 18 1

THIS D
RA

W
IN

G
 IS O

UR PRO
PERTY. IT C

A
N

'T BE REPRO
D

UC
ED

 O
R C

O
M

M
UN

IC
A

TED
 W

ITHO
UT O

UR W
RITTEN

 A
G

REEM
EN

T.

DESCRIPTION: CW05 spindel

GP Equipment BV
Titaniumstraat 10

6031 TV Nederweert
+31(0)495-745680

Info@gp-equipment.com


	Sheet1
	Drawing View1


